IETRFBREE #2555 1989

AUTUMN u (130 B)
60N 30N EQ 3095 60S 0
50 500
100 1000

60N 30N EQ 305 505
CONTOUR INTERVAL = 1.0 CM/S

3.4.49 FKFIIBHMEWEARS (U) OFLEESA (130°E)

AUTUMN U (140 &)
0
50 500
100 1000

60N 30N £0 305 605
CONTOUR INTERVAL = 1.0 CM/S

K 3.4.50 BFICBHWEHRAERS (V) OBLEESA (140°F)
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KEEFHMHE #5255 1989

AUTUMN U (150 E)
ON, . 30N Q . 305 605

500 500

1000 1000

60N 30N EQ 305 605
CONTOUR INTERVAL = 1.0 CM/S

3.4.51 FXFIIB B HEWHRERS (U) ORALETE S (150°E)

AUTUMN U (160 E)
EQ 305 605

500 500

1000 1000

60N 30N EQ 305 60S
CONTOUR INTERVAL = 1.0 CM/S

B 3.4.52 FXFEICBITABEHREFERS (U) OEdLhimEs A (160°E)
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SEFETHARE  $255 1989

AUTUMN u (170 g
60N

500

1000 000

d ¥

30N £Q 605
CONTAUR INTERVAL = 1.0 CM/S

X 3.4.53 BFZBFHMBRRAESS U) OFILHiES A (170°E)

AUTUMN U (180 W)
60S

500

100 000

60N 30N Ed 30S 60S
CONTOUR INTERVAL = 1.0 CM/S

3.4.54 BFEICBTLHEHRERRS (U) OmdLESH (180°)
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KEFRAFEMRE  H255 1989

AUTUMN U (170 W)
60N 30N £EQ 305 60S

500

1000 000

60S
CONTOUR INTERVAL = 1.0 CM/S

B 3.4.55 FKFIZBIFAHMERERERS (U) OBILEES A (170°W)

AUTUMN U (180 W)
60N 30N EQ 305 60S

500

1000 000

30N €0 605
CONTOUR INTERVAL = 1.0 CM/S

B 3.4.56 FBBICBIFAMEHERRS U) OHILMESAE (160°W)
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KEFRFHEABE  $255 1989

AUTUMN U (150 W

500

1000

oN

CONTOUR INTERVAL = 1.0 CM/S

3.4.57 BKFIBI 2 MHEFRERS (U) OWILHESHE (150°W)

AUTUMN U (140 W)

50

100

50N 30N EO 305 605
CONTOUR INTERVAL = 1.0 CM/S

[ 3.4.58 HFBICBITAREHRRARS (U) ORILWESHA (140°W)
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[ RE #5255 1989

AUTUMN U (130 W)

500 500

1000 1000

60N 30N £0 305 505
CONT@UR INTERVAL = 1.0 CM/S

B 3.4.59 HKFIZHBITHHEFHEARS U) OFIMESA (130°W)

AUTUMN U (120 W)
60N 30N EQ 305 605

500 500

1000 1000

30N EO 605
CONTOUR INTERVAL = 1.0 CM/S

B 3.4.60 FFIIHBFAWEHREELS (U) OBLHiES A (120°W)
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[EBERHMRSE  $25%5 1989

AUTUMN Uu (110 W)
60N 30N EQ 309 60S

500 500

1000 1000

60N 30N EQ 305 605
CONTGUR INTERVAL = 1.0 CM/S

3.4.61 BEFIIBIHMWEHFEFERS (V) OBILKESHA (110°W)

AUTUMN U (100 W)
60N 30N EQ 30S 60S

500 500

1000 1000

§> 60S
CONTOUR INTERVAL = 1.0 CM/S

B 3.4.62 FKEFIIZBITHHMERETERS U) OFIMES A (100°W)
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[EWRTMRE $25% 1989

AUTUMN U 890 W)

650N . EQ 305 605

500

1008 000

50N 30N £o 305 805"
CONTOUR INTERVAL = 1.0 CM/S

B 3.4.63 FFTICBIHMEFREAERS (U) ORALIiES A (90°W)

AUTUMN U 80 W)

BON 30N EQ 305 . 60S.

500 500

1000

50N 30N EQ . 305 605
CONTOUR INTERVAL = 1.0 CM/S

X 3.4.64 FKEFICHBITAMEHETRS (U) OFEESA (80°W)
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